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i In the preduction of qujg) e Rlig (General Aptinid<)

1.

we add:
(A) Less amount of EYPsuiy, ;
form " Powder
(B) More amount of ZYPsum ;
Mﬁmn M Powgder
Aluminium sulphate i ..
(D) Pozzolana in pc[;wde,- I:-; :: Wder form
2. A good brick should not absorl v,
weight more than ? aler by
(A) 10%
_{B) 20%
(C) 25%
(D) 30%

ing “Cment

To orient a plane table at a point with tyg
inaccessible points, the method generally
adopted, is :

(A) Intersection

(B) Traversing

(C) Radiation

Mesection

As per IS specification, the m'minfum
compressive strength of first class bricks
should be :
(A) 75 kg/em®

_B7100 kefem’
(C) 125 kg/em’
(D) 140kg/em’

The maximum permissible
ratio for non load bearing m

slendermess

is :
(A) 40
(B) 30

LerTy

D) 10

g sE AT e T ¥ Fg Pt
feyeaT ATAT &

A) frearsT 1 FH qTAT, 0 =

(B) fFereaer it At AT, i Ew R

() e TAaH A, I T H

(D) ST, T = A

o =T 5T W AT A9 H AT § S ww
(A) 10%

(B) 20%

(C) 25%

(D) 30%

T A WF &1 A1 A gl A v g ae
T FOA F O, AHATL 9T AT S AT
s

(A) T=TTFTH

(B) ZATAT

(C)

(D) Frosore

ATATT WTE F SAATE 549 A0fT F7 €2 A =T
{(A) 75 kglcm?

(B) 100 kg/cm?

(C) 125 kglcm?

(D) 140kg/cm?

T 95 7 FTH AT, TaArE Al da F
AferFaw slenderness ratio 2T ITRY :

(A) 40

(B) 30
(C) 20
(D) 10

__.—-"'"-'__FT?T\_-T-T"—‘—'—-—--—-___
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17, An aceumme cstimate of average rainfall 17": m o ﬁﬁ'

in n particular catchment arén ©an fmrom e ® s L/ | .'."_';
obtained by : (M Arithemetic mean fafir zrmy

(A) Arithmetic mean method B =71
(B} Isohyetal method (B) Isohyetal faf

(C) Normal ratio method (C) Normal ratio fafer a7
_{D)Thiessen method " (D) Thiessen ffir z7T
. FTeft e erafafur @ &
18.  Black colton soil exhibits large swelling 8. i fifl ﬁtﬁ"ﬁfﬂﬁ!m g
and shrinkage due to the presence of the Fufeqfey i wreor A fAT
following clay mineral; A) TS
(A) Knolinite )
(B) llite (B) wamiz
_(C)yMontmorillonite (C) wirzframTeE
(D) Halloysite
(D) BFTATEZ
19, The sleeper density of a BG track is 19. o5 BG PTﬁtﬁEquﬁﬁ {MEHI |
(n+6) in metric units. The number of afit 1.024 km qers F 8w A ﬁ'ﬂ'!"‘f 1 o
sleepers per 1.024 km length of track is:
(A) 1520 ot gl
(B) 1630 A) 1520
(C) 1720 (A
(D) 1800 (B) 1630
(C) 1720 |
(D) 1800

20.  The coefTicient of variation of the rainfall 20.  serem e I E rain gauge AT E}'ﬁﬂmj“ -

for six rain gauge stations in catchments
i 29 .54% 97T TIT
was found to be 29.54%. The optimum o TciaNgg! variation 29 ) ' %4

number of stations in the catchments for Aot % aqam ® =t 10% A F B

an admissible 10% error in the estimation catchment ¥ =97 1 ZEAH F=4T 21T ;
of the mean rainfall will be : '

(A)3 (A) 3
e
(D) 12 (C) 9
(D) 12
21. A soil sample has a void ratio of 0.5 and 2. Rt % ward #1 Trae Yot 0.5 & e 398
its porosity will be close to : . N ' 2R
(A) 50% - 0 ¢ TOTAE 0 gty
,_,,(»Bj’ﬁ'ﬁ% /Y\ < L/" - "'":f- - (A) 50%
e4l R
(C) 100% | o 6
(D) 33% (B) 66%
(C) 100%
(D) 33%

22, In railways, the disc signals are provided 22, frre q
for the purpose of: o A, ﬁ'ﬂmﬂ%mm
(A) Dead slow movement S
(B) Shunting R x
(C) Indicating busy platform (A) BTFQ'ET SEEEE BT
(D) Possible danger ahead (B) gifér 3 ferg

(C) e Ehm 34T & oy &
/iy FETIAT @aL & o N
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(i is éﬂ‘maﬁd bif{?:;. lmIIir:.g 3T 40 § 3T BC it &= T
280°? V& o ?lfglinn AB 12 = ABFTIET wa

(A) 12;1' 280" &, o 1T ABC FAT &2
(C) 240" (A) 80°
(D) 320° (B) 120°
(C) 240°
@ In the absence of sy ' (D) 320°
’ Supe i qT
:_‘ormst ion of Pot»hqlesr :::yaﬁ“n he 13, e e % e eI WEH T g
ound: . . ¥
(A]n()n the outer edge of Senerally T ST
. © ol AT 9T
.9,4(8} In the Inner edge thhzergn (A) HEF & E‘lﬁ[
In the middle of the roag ad (B) TEF ¥ Hatem e 9
(D) Any where on the rogq (C) wE ¥ Ao ¥
(D) wE= Fr =TETE | FE aT T
14.  What is the treatment for 1y ITATCE?
fire resistant? Making timber 14, wrEl & 8 ey =T & e
(A) ASCU treatment (A) ASCU T9=TT
r’:bci's process (8) Abel TRl
EE; %reqsolmg ©) Creosoting
arring
(D) Tarting

15.  The following measurements were mage 15w Satr Segz F w{ET ¥ < FetiEd
during testing a levelling instrument : A T AT A
Staff reading at |

Instrument at l Staff reading at J

P Q Instrument at rF” \ Qn {
l 1
P 28m 1.7m P \ZBIT‘E \17”1
¥ el ‘Z.Tm l1.8m_\
B ' ! )
Q i i P, P ¥ w7 3 d@w Qq Q F 7l ) A = P
Py is close to P and Qi is close to Q. If Freges #r 100.0 HiE 2, 1 0 Q T T
thle]reduced level of station Plis 100.0 m, _TT _
the reduced level of station Qs A &
(A) 99.0 m 9} (13- |-9) (AesoH
(B) 100.0m G V (B) 1000
/fgﬂg;'gﬁ 2,y ©ood
' Y 2% - (D) 102.0 ¥
"~
divert the train 16. famfy 39 a7 T Iw A T 0F F FEes & (o
Arrangement made 0 ¢ koW 85 ST el s fRmfar e & S S 8
from one track to s_mothcr )
(A) Railway crossing ;'_;'“i "
(B) Railway junction (B) XT3 ST
(C) Turn out _— (C) = amee
(D) None of the a0 (D) B9 ¥ #r§ e
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. . a line
The observed magnetic bearing of

OE was found to be 185" laca
discovered that station O had ?ing 2
atraction of +1.5". Thc_lruc bea s
line OE, considering M2
declination of 3.5°E shall be :

(A) 180

(C) 190°
(D) 193"

o

7. PERT analysis, is based on:
(A) Optimistic time
(B) Pessimistic time
(C) Most likely time
(D) All of the abave

8. The moisture content in structural timber
should be :
(A) Less than 5%
(B) 5to 10%
_AEy10 to 20%
(D) 15to 25%

9. What is the slope correction for a length
0f 30.0 m along a gradient of 1 in 207
3.75 cm

(B) 0.375 cm
(C)37.5m
(D) 0.0375 cm

10,  The value of super elevation will be more
when: .
(A) Speed is more
(B) Radius of curvature is less
_4€) Both (A) & (B)
(D) None of the above

11.  The deflection in timber beams
supporting brittle coverings should not be
greater than ;
~ (A) Span/300
~AB) Span/325

18'?. G@’o )ﬁ%

10.

11,

ﬁ"ﬁ"“‘noe
- S . e
W“‘ﬂnmﬁ Wﬁﬂwﬁﬁﬂ'ﬁﬂﬁnﬁma_ ;

Tar wer fs ®err O W Ty
T + 4 g T 3.5 Eﬂﬁﬁ&m&ﬁﬁmm |

éﬁrmmmoeﬁzwm,
(A) 180
(B) 187 |
(C) 190" 3

©) 103° |

PERT R PrarfrfRrer e s & 1
(A) sTerrarét e ’
(B) ﬁﬁ?ﬁrﬁm

(C) stfereramsy o

(D) 393 wfy

HTHATCH wTRaT i AT S AT

(A) 5% & =7

(B) 5% 10%

(C) 10 & 20%

(D) 15 & 25%

20 % 1 Fi =7 F AT 30.0 e 7 Fars ¥ fre
FET T 49T 27

(A) 3.75 T .

(B) 0.375 &.4T.

(C) 37.5 7.

(D) 0.0375 F.#.

U TRTEET T 719 ATSH g, e
(A) AT AT Y

(B) aaT BeaTF

(C) (A)TH (B) T

(D) T § A0S TG

Fecrrar, Frarreiter & s vl g I

(A) span / 300 '
(B) span / 325
(C) span / 360
(D) span /380
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25.

26.

27.

28.

(A) Energy budggling (afﬁd on
(B) E:gfgﬁmg budge“ngl}' : 23.  Penman’s equation smnfix 4 ;
ang (A) S9N T AN OT
Energy budpet; Wit
(D) Water budgﬁfﬁgﬂﬂnd Magg , “ (B) ST T 3T 9wz
M magg , ANsfer (C) 1T awe 3T mass mrrieor T
24, For a S&athuraxﬁd sand tpos: fey O REREE e T —
ratio and the specifj CUsI, ) .
0.7 and 2.67, fﬂSpl:c%;:"l‘ nfssglj\fmd 24, T S X T ¥ P, B et o st
(upward) hydraulic g:aé': . cr;iaﬂ; s RAfsre e w9 0.7 A 267 & =T i g
?jl;%sist‘qwould be: E;:m‘l or ;?e FEea T (FTTH m)i@ﬁ?ﬁﬁzﬁm;
- AR C L Y (A) 0.54
_B70.98 T
(C) 1.02 A (E))'::'zz
(D) 1.87 (C) 1.
The rate of rise/fall of the (D) 1.87
along its length, is called- %8 surfue 25, wEF T HOE F I URT A 2T 7Y, qwrd £
(A) Cant o § Proffem sz &
(B) Super-elevation :
(C) Banking () ¥
Gradient (B) T AT
(Cy
(D) Ifed=
A 3-hour storm on a small drainage basin =~ 26.  wF @iE I FHEHT JEA 9T 3 9K TEA A
produced rainfall intensities of 3.5 emy/he, : —
4.2 c/hr and 2.9 cnvhr in successive ?-FT!T-FIT 3.5 cm [ =zT, 4.2 cm g;r Tﬁlg cm:;;
hours. If the surface runoff due to storm g1 HT a‘ﬂ’r e T Seree frm i A
is 3 cm, then the value of ¢ -index will FTET TOHA TATE 3 om E, TT¢ -index W WA
be: BT - ,
(A) 2.212 cm/hr (A) 2.212 om | 52T
(B) 2.331 c/hr (B) 2.331 cm / =1
(€) 2.412cm/hr (C) 2.412 cm / 21
(D) 2.533 cr/hr Y 2,638 om /455
- - -B) ¥
Weight of rammer recommended for 27. 182720 (s -7) IR '._S ?720 (AT -B) W;
standard proctor test and mo{i}.ﬁej T Wi LT T R IEA L
proctor test as per 15-2720 (Pest7) 20 for w1 A &
1S-2720 (Part-8) Is : (A) 2 fariram i 4.9 Frem
(A) 2 kg and 4.9 k& (B) 2.4 Firirarma sire 5 Fretromw
(B) 2.4 kg and 5 kg
€7 2.6 kg and 4.9 kg (C) 2.6 Frstru i< 4.9 fheraTd
(D) 2.6 kg and 5.2 ke (D) 2.6 v si 5.2 R
¢ Fish Plate is: 28.  fier virew =7 wew Seyd AwiEa T
; : is .
The ma}n-m&ctlﬂﬂﬂrails together (A) B T F1 AT # ATSAT
(A) To join the B r 3
(B) To join rails with Slﬂﬂpean (B) = iy weftue & g
(C) To allow rail to exp2" (C) et 7 e o 3 HeraT AT FREET
contract freely (D) EAY (A) T (C)
(DyBoth (A) & () +3d
" 1iinm [Page-5

33. Penman's.cquation iy
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o occur ol
nearly :

29, Probabllity ol a 10 year flood t
lens! once In the next 4 years Is

(A) 25%

(1) 35%

(C) 50%

(D) 65%

30,  Sand drains are used 10 :
(A) Reduce the settlement
(B3) Accelerate the consolidation
(C) Increase the permeability
(D) Transfer the load

31.  The transition curve used in the
horizontal alignment of highways as per
[RC_recommendation is;

__.-{ﬂﬁi‘plrnl
(B) Lemniscale
(C) Cubic parabola
(D) None of the above

32, Leaching is a process :
.(A‘J/By which alkali salts present in the
s0il are dissolved and drained away
(B) By which alkali salts in soil come
up with water
MC€) Of  draining
irrigation
(D) Which controls water-logging

excess waler of

33.  The critical shear plane will have an
angle of with reference 1o
the major principal plane.

(A) 45°+2
(B) 9o'+§
(C) 90" + ¢t
(D) 45"+ @
where, @ is the angle of shearing
resistance,
34, The radius of a simple circular curve is

SUOm.and the length of its specified
chord is 20m, The degree of curve is:
(A)5,73°

(B)5.37° [ ~
,«:))3.82" W

(D) 3.28° D~ S/L:

29.

30.

31

32.

33.

34,

R LT <
A s 0 T B

(Ay2sy,
(B) 3509, |
(C) 50,

(D) 659,

Sand drainsmmwmgl
(A)ﬁmﬁ?ﬁwmﬁ%ﬁq
(B)ﬁﬁrﬁ%smﬁﬂ?rﬁ%ﬁlﬁ
(C) woirfafintt azry ¥ fire

(D) wre o wvartercor s 3 o 1,]
FES T A wiem ¥ Ry, IRC HeqT ¥ apry \

1
PP O e
Py L

ﬁﬁﬁfﬁhﬁﬂmmﬁﬁﬁv@mgz

(A) Tmeem

(B) sy

(C) Bt mgemr

(D) Trey 7% s

(A) Ty gt 3 Ao e e o s & e
TE W §

(B) R gt Pt & e s arft ¥ g
AT &

(D) =1 S5 F7 PP war & |
et Ry i 3 wad ¥ et Rl
T T 0T BT

(A) 457+

(B) 90"+7

(C) e0'+@
(D) 45+ @

@ e TRrEa & For gl
afy Reft T I aw i FBrsar 300 m g 7
Fydry ST Y wETE 20 m &Y, & a% WA
Ry g

(A) 5.73°

(B) 5.37°

(C) 3.82° 2
(D) 3.28°
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36.

37.

38.

39,

33.

An identified SQUFce 4 |
has‘_iknn CORcentratjon, orlrr
Mg™ as 20, 10 o i
l'tfr respecti ol & mil}, Cym ater
Iier, p "r'e|’.'a-'. The Si"i qu“"ale and
is approximately . R G“}l:‘gnl Rer
(A) 2.06 Water
6.67

(C) 2.67 —_—

(D) Zero \' |£_t_',§' 3
L

'Batiq,,
15,

Westgaard’s theory i
which type of soils?

(A) Sandy soils

(B) Stratified soils

(C) Humus soils

(D) Gravel

a]-'l]:' 1 i(;a ble

for 36.

ﬁfssertion (A) : When the te
rises, the sensitivity of hub’g’crature
increases. € tube
Reason (R) : Air expand«
liquid used in the hubb}é}t::g:. e o
Select correct answer from the I
(A) Both A and R are true ang)ﬁj‘;lr:ﬁé
correct explanation of A
Both A and R are true and R is not a
correct explanation of A.
(C) A is true but R is false.
(D) A is false but R is true.

37.

Given that the base period is 100 days 38

and the duty of the canal is 1000 hectares
per cumecs, the depth of water will be :

fasmE 5= % v wEETT v Hry & 20, 10 AT 8
mill-equivalent wf& =z ¥ =7 i Na*, Ca** #+7
Mg €T ion concentration i 7 THT FT SAR
ST BT ¢

{A) 2.06

{B) 6.67

(C) 2.67

(D) 47

e i Rz Fey weere Y ot & g &g 27
(A) TTefT vt

(B) w=rliga fagy

(C) s Fivgy

(D) =il

F9 (A) 1 999 =9 FT HIEASAr F17 qE2T H
azdl 21

FrOw (R) ¢ 7Y F99 2T F WA 79 | wiow
et gl

Prerfarfere & o Sw 4o

(A) (A) T (R) ZTAT AT & A (R), (A) W EE
(A) T (R) =T @t & ©F (R), (A) HT &€t
=TT A51 &

(C) (AT g T (R) 7eeT §

(D) (A)FEer gy (R) &g

T TEd g G grarT smfe 100 B § e age
duty 1000 ha per cumec &, TTHT &1 TErs B

(B)

5 é&%”‘ ™(A) 0.864 cm

(A) 0.864 cm P 4L
(B) 8.64 cm X 36 o0 gk (B 864 cm

86.4 cm \ . (C) 86.4 cm
(D) 864 cm 1B 864 om

sand deposit are
ively.

The void ratios at the de

the natural states of a
02, 0.6 and 0.4, respect

relative density of the deposit 1S °

(A) 100% - e “

(B) 15% M‘a .— Wn
50% r_ vy

(D) 25% - (-0

W@ T A e, i s et e &
AT T FA9: 0.2, 0.6 3T 0.4 §1 v ¥ wrE
HAea € %

(A) 100%

(B) 75%

(C) 50%

(D) 25%

- /9( [1102]

13 1 PRSE, 4 |
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test, 1he

5).  Assertion (A) : In box sl'rculi'nc hos
" failure plane is predeterm

harizontal. ot 8 applic 4

Reason (R) : The shear
i rtical direction. o
ISr::!l::l '::mcct angwer from the fo Ilpf"-:;":ﬁc
(A) Both A and R are tru¢ and R
correct explanation af A.
(B) Both A and R are true an
correct explanation of A,
(C) Aistrue but R 1s false.
(D) A is false but R is true.

d R isnot @

52.  BOD ofsafe drinking water should be:
il
(B) 10 ppm
(C) 20 ppm
(D) 30 ppm

53. A small quantity of water may be lifted to
a great height by:
(A) Hydraulic ram
(B) Hydraulic crane
vdraulic lift
(D) Hydraulic coupling

54.  Water logging occurs when the water
tablg is:
Up to root zone of crops
(B) Just below ground level
(C) 3m below root zone
(D) 3m below ground level

35, ’WH value of fresh sewage is usually:
7

(B) More than 7
(C) Less than 7
(D)9

56. A raulic jump is formed when:

a subcritical flow meets g
supercritical flow

(©) a  supercriticaj

Supercritical flow

) 2 supercritical
subcritical flow

flow meets a

flow meets 4

51.

52.

53.

(A) (A o \
T (R) 2t ' :
A R (R), (A}ﬁ“'ﬁ"ﬁ{

B ) v (R -
e Hif’l‘fﬁﬂ'@rauﬁ-(m. () Py |
(C) (Alq?ngi@ (R) 3 & ' _]J;

T B e vy
. . S¥ %1 BOD ﬁ'ﬂﬁ-&a ,

(A) =T !!
(B) 10
(C) 20 Eﬁnm-, 1

T ¥ St W st et s
: j T Frafifn
STV ¥ ST 517 oy

(A) ET=gTTorr oy

(B) &gt imy

(C) Tt fore

(D) Eregiferm i

STST SIS @ £16T & w4 et ¢ e 2y
(A) e % o B 1

(B) Tf¥ae & S Ay

(C)FE&a T3 mH

(D) gfFaer & 3 m A% _
TS WS 7 pH AT AT Frafafa fm
& '
(A) 7

(B) 7 # arfirs

(C) 7 & &H

(D)@

(A) @Wﬁﬂﬁmﬁmm# i
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The presence of algae
that water is:

(A) Hard

(B) Soft

(C) Acidic

Dy Turbid

Sty .
e iy dicates

47. The ]ength of long ¢

curve is equal to-

(A)Rsind

(B) Rcos

(C) 2R sin (9/2)
2R cos ($/2)

where R is radius of

deflection angle.

hord in c“ |
Cular

Clrve angd ¢ i ‘%ﬂ.l‘.ﬂn

qET 7 fEm i Hq‘ﬁ}a_ﬁ{
.

(A) FBTT

(B) st

(C) i

(D) =T

TE mATAY & ooy

fdt ifﬂ'q TFF | I sty £ e Prefayfae
g‘:ﬁ;ﬁi—

(A) R sin &

(B) R cos &

(C) 2R sin {$/2)

(D) 2R cos (§/2)

wet 'R =% 7 Broar g R for g

48. The total rainfall .
1200 km? during a én huau,cstfnh?“‘ area 48, BT 1200 km? F5E i 6 i Fy qva
! while the SI.lI'FdLe runoff due 4 l:t{:g:; % 16 cm U1 < &, FUT F FI0T TCKE AT AT
| ]A:.;:l[cj IIO rr?h The ¢ index is: TET 1.2 x 108 m 31 § Tt et 2
c r
(A) 0.1 c/hr
{E} {]) E Cmel (B) 1.0 com/hr
; cm/
u‘\{ ED) 1.6 Lrnfh; Egﬂjﬁ il:rﬂ[lj;-
Aol A rectangular tank 15m x 6m x 3m has to 49. g 15m x 6m x 3m ATTHRE EF W TAEA 2
\©& % treat 2 million liters of water per day, The Frfarre e 79 1 ST FT 81 70 5
b Eiit)c;t;nlllme ol the tank should be: A
10urs
(B) 5.63 hours W (A) 3.24 5=
MO (C)6.48 hours NAVIE QN *3 (B) 5.63 72
,/v/*, (D) 24 hours B (C) 6.48 2
2 2459 (D) 24 5%
lating 50, A7 Ayt T e e Y e § e A
50. Which of the following statemeﬂgeergcd et ; a3 T AT A A 57
to stability of floating and subM N | ; ﬁ.'@?ﬁ g ofg
bodies is incorrect? in unstable (A) TF SrerHY TE] AT AL
A suigerEe) Eroggntre of gravity is T %, ST O p e I
equilibrium 1 *7° f buoyancy (B) wﬂﬁmﬁﬁaﬁﬁ‘mﬁﬂﬁﬁﬁiﬁ%
below the centre 0 i stable PR
Y (BIA floating body * ¢ gravity is e o, e 8 YRS
m . equilibrium if the ‘i“:_‘“ | (C) TF SraAy T FaTH G | X
metacentéh neulra e @TAT
4G vrc T{;T:bmrged body 5 e gravity S H:Wﬁ e & AR
L : equilibrium if th° centr® enre  ©F () oSk 35T ° T E
coincides Wil nstable X Teea ¥, Herdet § ST
d buoyancy s in is
S8t (D) A floating bO dy centre © fE“’m
LY
e eqmllbrltlfﬂll . entﬂf s

TDana:0]
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hometer
40. The multiplying constant of a 1ac

vV o
fﬁ:ir(cff c':syﬁ}cal length of the oh_:;f:ttl:nﬂé ;‘
is the stadia interval and d s the Isrt'ca]
between the objective and the verll

41. 'ﬁ: main plate of a theodolite is r:!mdt:d
into 1440 equal divisions. 60 division
vernier coincide exactly with 59 divisions
of the main scale. The least count of the
theodolite is:

(A) 5"

(B) 10”
(C) 15™
(D) 207

42. In an aqueduct, natural drainage is kept
of a canal:

(A) at the same level ﬂ_
elow

(C) above C

(D) None of the above D

43.  If the total hardness of water is greater
than its alkalinity, the carbonate hardness
will be equal to:

(A) Non carbonate hardness
_BJ Total alkalinity
(C) Total hardness
(D) Total hardness — total alkalinity

44.  As per IS, the length of one link in a 30
metre chain should be:
(A) 15¢cm
_,(B)Z)O cm
(C)30 cm
(D) 50 ¢m

O dwW

45. Ifjthe ::Eischarge in a canal equals to 70
m’/s ?wth its silt factor V2, the velocity of
flow in canal as per Lacey’s theory is:

(A) 0.5 m/s g
(B) 0.75 m/s @"’

(C) 1.0 m/s 9 * \,/

(D) 1.25 my/s |

) v\ﬂ?\\lﬁ

£

ns of

41.

42.

43,

44,

45.

T E:

(A) ey gz

(B) =

(C) omx

(D) I § L 7t

% Tt £y o wErTET T ST ¥ at
T FrETE FHrear e ¥ A A &

(A) FETe FoE Farar

(B) F aTiraa

(C) T Ferean

(D) 57 FETCAT - T AT

ARG AWE & FGATC 30 m A9 1 TF Tl
s P e =R

(A) 15 cm

(B) 20 cm

(C) 30 cm

(D) 50 cm

af 1w Tel W T 70 m¥s § TF TS 7

J2 % @ T & g I, v F i
Frgfafed g

(A) 0.5m/s
(B) 0.75 m/s
o g i
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., The indicatar useq%
' 1 {A) Starch O C'D-D- teg ;
i, 5 henolphthalejy, o 57. 0.D. wfr=m # Peim
5 .-’ggﬁcnnys Hmmmniljrn (KIQ'IP::\ C. . T H{=F =7 wi Py
(D) Ferroin Sulphalé_h ST &-
(A) =T
(B) AT
: iardin " (C) TH IHTHAH T
48, ardness of water is ¢, . ok
f (A) Presence of soap, laliit:: : . fjﬁﬂ- -
. (B) F;esa;ce of chiorige, ang . ﬂﬁ-l: EIEﬁE e fie 8
.' sodium and potagg: sulpy, (A) ATEA F AT T Iufegty &
_,(C{l‘ircs?nl:c of CQO;, SO:UDT ) ates (B) wifs=w TFar WrEfimm ¥ FATTZT T47 S .
.gal;:jl.u{n and MagﬂESiUm Ehloridﬂs of ' Tﬁ' G’Wﬁﬂﬁ 'P'T
(D) Turbidity (C) &feeaw Tar #fifdmwr ¥ co, so, T
FATTEE T IR i
59.  Ifthe flood discharge floyyiy,, - (D) TEEATT F FIL
3600m’/s, its Perimeter pq M3 river is 59.  #fe uF T W RS 3600 mys & 97 ey
thﬂOl’y’ is llke]_\" 1o be; dcey's qﬁﬁ%%ﬁ% = _ Bt ]E-’['lﬁ'-
(A) 2;2 - S B (A)270 m Yy A
; a B) 283
(C) 300m Y3408 . +°% o EC; et
(T? 3b5”m - W g (D) 360m
60. € bacteria which may syrvi LT - . -
without free OXygen, are Ca“e‘dl?"re Wwith or 60. ﬁTﬁE ﬂ- 1‘[&31[3#. I=T+ 4T 39+ AT 1 STEE 1%?[ %’
(A) Aerobic bacteria R IR &
(B) Anaerobic bacteria (A) FTEETT ST
Facultative bacteria B) srAT@d T Sfar
(D) None of the above EC}] e <
(D) T & FE Ao
61.  Which of the following is not coagulant? 61.  fomforfa § 17 Shas 78 27
(A) Alum (A) T
(B) Ferric Chloride '
CyS0; (B) ¥ siierze
(D) Gelatin (C) SO;
(D) o=
62.  Reciprocating pumps: _ g 2. g oo
(A) Are not suitable for variable heads (A) TR o 3 By s T &
(B) Are costlier than centrifugal pumps (B) 7 . (¥
(C) Produce pulsating flow ) HEIT T H AT T
All the above (C) &% TF FT TATg AT &
(D) ST Asfy
] «t English 63. : % A o ¥
63. In the 1% brick thick \a{all}:;il} & iy gt T (L A ETFRF T
bond, the same course Will s anci headers EERIE
Stret!;:hf:r; i one face (A) T T T BT U AL AR T 85T
on the other face.
es. B =97
(B) Stretchers on both thF gﬁ (8) ﬁrﬁm T
(C) Headers on both the 3 sgretchers Of (C]%WWET(
¥ (D) Alternate headers 21 (D) it 7Y % 32T v R UF F AR OF

W
i .
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... . temperature

cormect?
Dynamic viscosity of water is nearly
50 times that of air
(B) Kinematic viscosity of water is 30
times that of air
(C) Water in soil is able to rise a
considerable distance above the
__ ground water table due to viscosity
(D) Vapour pressure of a liquid is
inversely  proportional to  the

64
65.
16 a0
{B DEHE L?,2 I“"“'"V 5.
/(C%ﬁ‘;w 1 q g,ﬁ N.,'m
kg(f)/em * o 6.
” dium silt whose average grain size
66. F UJ ?:;emm, Lacey's silt factor 18 likely 10
is 0.
be: — . L3¢
(A)0.30 ST oy -3 }
(B) 045 i - o8
_{ey0.70
D) 1.32
67 1(‘.'_[53tch list T with list 11 and select_lhc 67.
" correct answer, using the codes given
below: .
List I List II .
P. Valuation] 1. Determining Pprice
of property
Q. Mortgage 3 2. Charges levied on
Property
R. Taxation ) 3. Security taken for
giving loans
S. Specification'] 4. Mode of describing
nature and class of
work
Codes:
P Q R S
(A) ] 2 3 4
1 3 2 4
©4 3 2 1
M3 4 2 1
Which of the following statements is 68.

¥ 32 y
%? #hﬂ{ﬁ?mﬁm%% ;‘,;

(A) Millibar

(B) mm of g

(C) N/mm? i'.
(D) kgfem2 !

Medlum sitt % frw, e e grain size gg. |
MM &, %t sitt factor g i |

(A)0.30 _ .
(B) 0.45 |
(€)0.70 =
(D) 1.32 H

= F = P« O B w2 g 11
R T A |

i | T \1
yeri A E e 5
ELED 2. FOTH 9T IRl FAT

T AT 3. T 2 F Fo0 wEeAT TR e

Rfed 4 708 f R W M
H ST F & ada

w &P
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what 'is the Criticy

69 yertical “and ~fgeT =Coy . )
:C;;E'fé?-atir{ns to UnTmal I::Ianati“n f  69. ey qut feafd 7 gravity e #t Raoar : =3n-=r
checking Lo Sability op INidgflakes 3 fory et o S i e AT A
reservolr ondit; Ay : . .

(A) Vertlcat.liy UPW!:_rl:i? Vit amf?; qg-awgﬁmf’m'—f H AT ATAT B 7
ownstream . sv A &f5F downstream
Vertically upwary GI"'ZﬂnIauy (A) ST FTE =
&) Vorticalt 4 horigg,, ’ (8) Seatae e A Afdw ups
ertically . ally Seatee A @ &t upstream
| { horizontally Upgtre., > ard ©) L -
(D) Vertically dn“‘}n‘“ and (D) FAter A ST s down
horizontally dGaneWﬂrd
70. Identif? the correct relatio . and
ﬁ[;ogv;[;g > COD oM the 70, et ¥ 3wk e A T
( =TOD
(B) COD > BOD > TQn (A) BOD > COD > TOD
(C) TOD > BOD > Ccop (8) COD > BOD > TOD
[D) TOD > COD > Bap (C) TOD > BOD = COD
where BOD’ CoD and (D) TOD > COD > BOD
Biochemical, Chemical apg Tota] are 4 TOD 13 -
demand, respectively. al oxygen w=f BOD, COD < T; T T, FHT
. . & et Ar T (EHIE g A p
{+ Whlﬁil mil’e A forllnwm_g eXPlesses (e 71, FrECTET H I TF Ao H[E F T T Ed
hclg‘]] Otr:e’? or fall of 3 liquid iy 4 o A Srs 7 e oY TETE &7 S AT EY4
capillary tube’ ¥ ' : —
Where, w = Specific weight of the liquid wet, w = aeer 1 fAfirg A, a = T #ag AU
a= Angle of contact of the liquit‘l F F07, g = 9 7914, FimrEEsr=E =d
surface, O = Surface tension, ¢ = Awd
diameter of capillary tube. (A) —
dwd
(A) (B) o Cos o
JCosc dwexr
gcosa 4o cos
G y
(B) 4“-"!’2 ( ) wel
/‘97/40' cosa D} sodd
wd 4gcosa
) 4:71:;5::: A< S
TP 72. T gl it ejector =T
7. Tnariver, silt excluder and silt ejector are us 747 #, silt excluder 3T silt €]
constructed : _ - regulator Fgl T STar &
(A At a location after the ¢ the cand (A) 5 Head regulator % 912 3T < ¥ A4
and at the head © .
respectively at a _
u(B’)/At pth e head of the canal ﬂni ity (B) #WM: TET F &iid 7T T head regulator
: fter the head T€8 AR
Jocation after
respectively ' (C) U & T 9T
(C) At the same location (D) =% & #s 7y
(D) None of these Jrows 73. o 3T FATCaT ITH A AR E
. Chigve .
B Zero hardness of water 182 (A) 7T HY=T sl Zr
(A) Lime soda process . (B) srfafces 37 o= grr
(B) Excess lime trﬂatT;cﬂt ; (C) 319 TR=T IUSTCERT
JQ)’Ion exchange tred tmen
. . e tred (D) STTer sty dr ST I &t
(D) Excess alum and bt k4 fia
it " 11102] [Page-131 -
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x\&7 € 1179 {bgg 16X
\“\9’ q.{1::)1'53{1
vk .
P '?\O The material that exhibits the sam
..’\ C

elastic properties in all the directions at
7 point is said to be :
(A) Homogeneous
(B) Orthotropic
(C) Viscoelastic
Isotropic

88. The ‘sag’ in the dissolved oxygen curve

results because : N
(A) Tt is a function of the rate of addition
of oxygen to the stream
(B) It is a function of the rate of
depletion of oxygen from the stream
(C) It is a function of both addition and
depletion of oxygen from the stream
(D) The rate of addition is linear but the
rate of depletion is non-linear
89.  As the depth of immersion of a vertical
plane surface increases, the location of
center of pressure :

(A) Falls closer to the center of gravity
of the area

(B) Moves away from the center of

Mmyity of the area
Ulllmat.ely coincides with the center

of gravity of the area
(D) Falls much bejow

gravity of the area
Ifthe Poisspn’s ratio for a material is 0.5

then the elastje
. modulus f; '
AN or the materia]

the centre of
90.

(4) n”"’et’mﬂ its shear modylys
ur ¢ MEs its shear modulus
" 1018 shear mogyjys
4 1_-. lﬂﬂb]ﬂ R

87.

85.

89.

90.

(B)2" ML s
(C) 20 (A
(D) 55 E
Ty 0
™ T %%%Eﬁam i
NS oy, g Lo
A kgfmsqﬁ'ﬂ'qﬂ 7.4 kpa B0kpy . ;
mis? ¥, TR s sy L -
g:m i
(A) 393
(B) 753
(C) 1179
(D) 7530
- 't 93.
qﬁrﬁg“qﬁﬁﬁ{wlﬁ'ﬂ?ﬁe\aﬁhp% "-.
RAREEE Waﬁmat&rimﬁ:ﬁﬂﬂma. ;
(A) T od
(B) sritErfies
(C) Fevdrgenfies
(D) sz
5 . . 94.
oo Aieriter 7w afort # A e i _
(A) T T AR 31 s 6 I g
(B) IE UT F A g T A _
(C) ¥ 4T & e A zd AT w2
FFL 2 :
(D)mﬁﬁiiﬁ?%aﬁﬁﬁﬁ“k’”z 9
HaFe
zaTd ¥ 5% T I - |

(A) m%wﬁm#ﬁﬁ??ﬂﬂm%
(@) & qET F A AT

() dam: i ¥ TEE L =

hear MO
g) HHS
Er‘i =g sheal modulus ¥ TUEL
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If a hole Is made
1

o800
' yacuum portion 0y
mercury : iy bﬁror]::’ Ty
Aevel wi Cler | Sl
Lw will fall in » e “13 BO. o= et 5§ ﬁﬁ'ﬁ?ﬁ
mercury will coljan & St c favy ST, ¢ T ¥ Prafr v &
(B) Level will oscjy Bet inte - Il TF By
level and o ale beyy, he “tsed the (A) T T FE A # R sy
mercary in th :glnal ]:en Tes:mi" ST F TEE g RIS 1
(C) Will spill throy steg Vel fl"ir'nir (B) 9T T FT ST &
(D) Level in the stsh the g the Wm%ﬁ?i‘mq;:: A T iy
same level indljn Will rg, 2de (C]Waﬁmeﬁ-{%w:q
pressure ICating W at the (D) T3 H 9T T W N e
g1, The best design of 03phe AT T
All hC'l'ian:ln arch dap. . ric ﬁmﬁmm“@" FT W
transferred Water When 7 g1. .
abutments horizontayy, ' ° are Arch aTer 7 T s fesmesr = 4 7
(B) The dam is safe agy; 0 the (A) AT &TGT water loads EﬁT‘;aﬁ
various levels Agamst gjig; abutment I =HaRE N @
C) The - . Ing at ) ' oA 2
© load is divid (B) =iw Fafie =t 3
arches and c .Ed betwe “W%ﬁ'ﬁzw
deflecti antilever, o L€ (C) +TTT arch ST Hlediasi = N
c ECthns al thE .S and 'L] . ~ qﬁaﬁmﬁ.ﬁﬁ-ﬁ.ﬂ'
being e CONjugal nointe AT A Hg R
g equal gal points _ Tgait we i o
(D) The deflect] (D) v ¥ fad T
ections of the can; TTOT -3 g
equal at different po infanulev,:rs are F T qE
82. lfdthe meisture content nfs
reduced from 98% to 96° 2 shudge is 8Z.
sludge will have decreas;;, L:he volume of R1E mﬁjﬁ Tt ¥ w1 98% ¥ 96% FF FA &
(A) 30% Y sy ArEm A TR gl
Eg; :g:ﬁ. (A) 30% '
a
(D) 60% .
(C) 50%
: 1]
3. Multi U-tube manometers with different g .
fluid ] 3. e aTer Tl
uids are used to measure ! % w1E A TS FAHEC H
(B) Medium pressures (A) 7 ZATE '
igh pressures 5
(D) Very low pressures (B) e =T
(W EEEEIE]
(D) &g &9 Fd19
84, Consi . situation in @ 9OV }

. ider the following sjtuation 11 @ U 84.  Flow m areTad Frafaiad Tl
mass curve study when demand line wq;% e | j -
drawn from a ridge 10 the mass curve ‘ w4 demand a‘ﬁﬁtﬁﬂdgeﬁﬁ?ﬁﬂ'&
does not intersect the mass curve 25211 i Yt B & mass @@ H 8t Fredl gl T W
This means that : Taed & %

(A) The storage is ot adequat®
the A TaiH T
(B) The demand cannot be .mctmb zsﬁﬂ (B) SICAGS ?@%
inflow as the reservoir W ﬁ:]ll at the ®) Inflow ¥ w8 T g wwdl
(C) The reservolr was 10! sremTerd refill ET &
: beginning | b
ke . ter oY C !
(D) The reservoir wastiog (D) e Wﬂ‘lﬁwqﬁm
L5 sl (D) S S T
- —— ___-_______-——_-"'- r
[Page-13)
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} 24
N9
£

e i itof
Poise 1S the ung

(A) Dyne-cmf S
(B) 1‘Jyne-cma"s
(C) Dyne-s'e

3 ‘5
which followIng 1

. one of the »

" u?]:l!ose of providing the down ream
; le i ? - .
sheet pile 1n & barrage g iping by

ilure
To control fai : _
"mrhigh value of exit gradient

s1ure due to SCOuT
B) To control failure ) 8
ECJJ To stop failure due to sliding

i re
(D) To stop failure due to uplift presst

i ique
Nalgonda technique 15 2 new technid

that is used for removal of :
(A) Taste, odor and color
(B) Fluorides
(CyIron
(D) Manganese

76.

The surface tension in a soap bubble of
50 mm diameter with its inside pressure
being 2.5 N/m® above the atmospheric
pressure is : i
(A) 0.0125 N/m p:

__{B) 0.0156 N/m 2 v
(C) 0.2000 N/m _
(D) 0.0312 N/m D X 0ol {

78. Under which one of the following
categories is the river Ganga classified in

the reach through UP and Bihar?

(A) Straight river

(B) Meandering river

(C) Braided river

(D) Deltaic river

79. ;k’dhich o:c' the following gives decreasing
raer of sewer size (in ter

diameter)? ( ms  of

House sewer > Lateral sewer > Main
sewer > outfall sewer
(B) Outfall sewer> Main sewer > Lateral
o Sewer > House sewer
(C) House sewer > Lateral sewer >
Outfzd] sewer > Main sewer
- (D) Outfa) sewer> Latera]

sewer > Main
Sewer > House sewer

76.

77.

78.

719,

- ‘é*r& 2 x :_‘ .. ’_
{A) Dvnﬁwcml‘sf i .I ] : _*:.
N Dyne‘cmis S

¢ (D) Dyne.

promede g 02 T " 97 g

Sfeme

50 WW%W%Wﬁmm
qTIHEAT T F 2.5 N/m? FaTaT 819 7t 1y '
GRIERULE I

(A) 0.0125 N/m

(B) 0.0156 N/m

(C) 0.2000 N/m

(D) 0.0312 N/m

Erafafae § 7 frg ool F o 57 i A
g # gt fomm T &2

(A) Helt 7t

(B) Meandering <t

(C) Braided 7T

i
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A trickling fifter

i

7 [1102]

R e
(A) Settleable solig =ied
(B) Colloidal Solidgs o 9. v fewta FeeT w v Py T =
issol : form fomar T R
(C) Disso ved organic it
(D) Floating solids et (A) 7z @ i =g
(B) FrATSSH Aifrgm
(C) Tfee Sta = T
% :ﬂr;;enssag::{nnuﬁ%“ for (D) e T
S g a . : :
The velocity at (2,2) isgi\'en by v tho 92. &Y \rTH WATE T P wiw Vo= oy zmr
(A) V2 dy o frar AT 1 3 (2.2) Wi
s oy G B
(C) 2v2
(D)2 e
03, A given material hag YW ALEE "‘]ﬁ"(m’ﬁ
E, bulk modulus X ang Pzi:nm"duh\s 93. f&% 7¥ materal ¥ Young's modulus E, Bulk
# n‘ A
0.25. The ratio 0[: YOU—“E‘S mnds i modulus K =T Poisson's ratio 0.25 %1 =%
pulk modulus of this materig) ; ulus 10 oy
(A) 3.75 13 material % bulk modulus 3T Young's modulus
. 2 5.
(B)3 e _ FT AT & -
(€)2:5 £ = akllyp) (A)3.73
1.5 Syl (n) 3
%'Z 5@03\{ (C)2.5
—o ¥ (D) 1.5
g4, The most hazardous gaseous air pollutant 9% TR e 3 TN AR FAT T A T
for human health is : 5.
(A) Nitrogen |
(B) Carbon dioxide (A) ‘r’“' .
(C) Oxygen . (B) E oG e FE I EE
(D) Sulphur dioxide (C) A=
(D) AL STEATIES
: i - ' £ 7 dme
95. If p’ is the standard consistency ©f 05.  7fy p iz FT standard consistency &
" cement, the amount of water used 1 o s A e T w7 A I &
cnnduciiﬂ% the initial setting time test,on S AT T AT
cement i : (A) 0.65p
(A) 0.65p 5)0.85
_B70.85p (8) 855
(C) 0.6p (C) 0.6p
(D) 0.8p (D) 0-8p i
96. Frsferfre ¥ & T & FA .
' llowing stateme™ i ment & T&ST
9%. Which of the folo : (A) Shear force, bending MO
correct? derivative © e}
s the first — e
LA S Shear favoe { - (B) Shear force, load intensity 1 T&
( bending mome&c derivat! .
= St (B) Shear force 15 , ending moment
intensity of 10ad om is 1€ firs (C) TF &7 T m;’r RiERl
: jty on @ nt T o FaA
(C) Load intensity %5 qome™ et FT W&
derivative of bﬂﬂd‘tn the fi (D) Bending moment, shear force
: n R
(D) Bending momﬁar force A & _____,__,--—-—-""'
A derivative of 1€ [Page-'l_"
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107. The specific gravi dﬂ.‘-gm‘ﬂ[ 15-
available ordinary portlan
(A) 4.92
_ABT 3.15
(C) 2.05
(D) 1.B3

108.

cribe
108.  Which of the following do¢s not des
a weld type?
(A) Butt
(B) Phug
_‘_,(E'rrZig-Zag
(D) Lap

109. The road geometrics in India are design

for :

(A) 98" highest hourly traffic volume
(B) 85" highest hourly traffic volume
(C) 50™ highest hourly traffic volume
(D) 30™ highest hourly traffic volume

110. The maximum bulking of sand is likely 110

to occur at a moisture content of :
5%
(B) 8%
(C) 11%
(D) 14%

HI. A certain RC structure has to be
constructed along a seq coast, The
mintmum grade of concrete to be use
per IS 456: 2000 is
(A) More than M20

(B) More than M2 and
Not less than M30
(D) Less than M43 b, ®
5 but more than M3

d as

J0
less than M3p 2.

109.

I11.

m#m%ﬁ“ﬂ?ﬁvﬁ“‘mﬁmﬁ
(A) gaﬁmﬁw?ﬁﬁﬁw
(B) 8531 Sqm wfit stz S e
(C) 5Uenﬁ‘ﬂ"?‘;rﬁfF“Tﬁtﬁ'ﬁm;ET
(D) 3031 sgm wfiy sier £ afeger

mﬂﬁﬁmwwhﬁﬁﬁwhmmngﬁ
HITAT R

(A) 5%

(B) 8%

(C) 11%

(D} 14%

et 2 T O RG aresr i fofor v
aré 456: 2000 3 SFgATC ST g T T
s o T I

(A) M20 & FATET

5) 20 & o AT M30 & T &

(
(C) M30 SRR
(

D}M45ﬁm?rﬁﬁw30ﬂzrﬁﬁ=
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practlcal Capacijt

F%m.e 'ﬂ' b}' the formula, why fr{;.tary
" acity, W = Weavyip, ing v, Q, ’ g,,_,
oty and et w7 Vi, ¢ Pracgen 112 e A e o v e o
| i p = provorion o7 w“a‘mg I 8 = TITEIE S, W = HT Herd, @ = e
weaving traffic “A¥ing | eth S S P SIS, L = i st e
28001+ £y, p " Rop. A T At R e s B
A O, =—‘-——‘L—\l§3 280m(1+ £y — P
1+ (A)Q, = ——L___i_i
L ﬂ+—)
R 280w(1-Zyq , p .
®) 0, = w " 3) 280w(1—Zy(14. Py
7 1+
280w(1+ <y 280w(1 + Ey(1 -2
© @, = ——____L______i © Q,= " A
(- -2
280w(1+ Ly - } 280w(1 + )1y
D g =— 23 D 0, = Wi
1+2) a+5)
{13/ What is the approximate quantity of 113, 4. soms e
cement (in kg) and of dry sand ( ].I‘I]Cj:lbcl'ﬂ 1: 8 S % A % e B EF[ i
meter) respectively required for preparing T F o A o (@ ) deogd
1 cubic meter of wel cement mortar of T (I |27 H) AT T 7
(IAS) g%p“”é“]“?ﬂ ) % L (A) 270 < 1.00
and 1. 4
(B) 290 and 1.05 :‘;‘,’7/'7( (B) 290 #< 1.05
(C) 290 and 1.00 (C) 290 =T 1.00
PY310 and 1.05 (D) 310 < 1.05
114, Minimum clear cover (in mm) 0 thg 114, 2, fiw, wtem @m-@ﬁwﬁg@#a—r@aﬁﬁq
' main stee] bars in slab, beam, column an AW clear cover (mm ) FAT: 8
at;tilr{l}g TESPﬂgfiE’;'Y ar°Q (A) 10, 15, 20, 25
| 15, 20,
8] 15,25, 40, 50 (B) 15, 25, 40, 50
(C) 25, 25, 30, 40 (C) 25, 25, 30, 40
(D) 20, 35, 40, 75 (D) 20, 35, 40, 75
. 115, ZHfux FEATE 151 |-
115 : . erial Phﬂtugﬂl}h T viaihi X
g AXLS of vertmal a {_A) gg'-}:@-r fma
Dﬁlﬂﬂldﬁs with the __.-%-' lght (B] o &1 6 R T
5
(A) Direction of line © el (C) 5= 1 e &
i [B) Du‘ectmn of gl‘a‘”ty DY 21T (A1 0 (C
A )_BOth (A) & (C) g
o T 11102] (Page-21]
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97.

[led I8 ofy
; ary, Ty TR & g, |
g7. A vehicle wravelling ""had the brakes & E'T*”fmg;r“h bLEC Ty
" pavement st 127 kmb 0 yg7 m ' 127 ey BRI
pavement P vehicle trvelled Ty T | T
D topplng. Wat Is e ©°° e T gy
h loped? 0.2
ﬂrﬁczmn that has develope i
@103 (€0
(©) 0.5 (D) 0.55
(D) 0.55 .
fipmt | ement SUperplast: i
"98.) The role of superplastieizer in 2 ¢ B it Plastizer €} ‘Iﬁmﬁ‘l‘rﬁt: \
cisto: S
Disperse the particles ) (B) it 5y _
{(;];l D;:;ersc the particles and 10 TEMOYE R Al @TWE\?W%M*
ir bubbles - .
ey :Jn.is]:'irsr the particles, remove af (©) = 3, gar EREC R
bubbles and to retard setting T iy TS R .
(D) Retard setting (D) ﬁ“ﬁm*ﬁﬂ
@ If the principle stress at a point in 8 %5 TTT% siressed body & s firg 77 principle stess
stressed body are 150 kN/m” lenstlft and 150 kN/mz2 s 50 kNm? wfie e
50 KN/m® compressive, then maximum - T : wifEa
shear stress at this point will be : 1T %FET shear force g1 :
00 KN/m’ (4 \w (A) 100 KN/
= i )
B) 150 kN/m’ _ Oy (B} 150 KN/m
EC)J 200 KN/ar - =t (C) 200 KN/m’
(D) 250 kN/m’ (D) 250 kN/m’

100. What will be the theoretical maximum 100, 77T £ wFer o7 & o Fshides witmm
capacity (to nearest 10 units) for a single | e (Fieeam 40 gazdl a%) a0 ol S
lane of highways given that the speed of s

it - 40 km/hr gl
the traffic streamn is 40 km/hr. o T %
(A) 3000 veh/hr (A) 300D T& / ¥z
2860 veh/hr .
g‘; 2510 veh/hr (B) 2860 ATET [ HT
(D) 2010 veh/hr (C) 2510 FTEA / T=1
(D) 2010 =& / oI
101. The fineness of cement is tested by ? 101, ﬁmﬁﬁﬁqﬁmﬁwmﬁ?
hg\?iﬁmntent method R
Air-permeability method (A) Air-conten
(C) Le-Chatelier apparatus ) Air-permeabliity fafwr
(D) Vicat's apparatus .
i (C)Le Chatelier FIF
Series-B]
[1102]
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104.

105.

[



Auniﬁ".l[m bl.‘.amufs o
at both supports. i i
distributf:d load *w:

lﬂz 15 g

“Tries aglﬂll" fixeq

bcndiﬂg moment at rgﬁr Unit le“nifurml
d gp, n Y

anjs S The

& 5

JB,MF
12

l wi?

©) 36

wi?

o5

On a road the free s

and the space headv?;;da:v?s 65
was 6.25 m. What is the ma:‘]{am dens'lt};
which could be expected on th]mum flow
(A) 2600 vph 15 Toad?
(B) 1625 vph

(C) 1300 vph

(D) 406 vph

104, For marine works, the best suited cement

is ?

(A) Low heat Portland cement
(B) Rapid hardening cement
jg}?)rdmar}f Portland cement

Blast furnace slag cement

105. When a load is applied to 2 structure with
rigid joints :
}M/Thcre is no rotation or
of joint -
(B) There is no rotation of joint
(C) There is no displacement of joint

displacement

(D) There can _ .rutaté(:: ar?gn.l
displacement of joint 4 o the

between members cennec;n et
joint remains ssam:’i e
application of the 102

eans
106. The bitumen of grade go/100 ™

; is § M
(A) Its penetration value i g cm
(B) Its penetration value . g 1010 ™7
o Cenctration VA g 01067
penc e is g {0

(D) Its penetration V"

= - o 1 -
i e "l b it

A |
pr - H

102.

103.

104.

105.

106.

2 L T TEREA A Sy

By o
ﬁmﬁmm%l“ﬁ“ﬁ‘iﬁ?miimi
ffeg WIT w'aﬁﬂmammﬁ&ﬁdﬁg

moment ¥
(A)

(B)

TF FET 9 AF A 65 kmvhr €Y # s g9
A7 9T 229 6,25 HET 91 39 9EF 9T ATumaw
WATE A1 T FIT IR ST AHA 57

(A) 2600 =T [ 52T

(B) 1625 @12 | 5121

(C) 1300 =g /=T

(D) 406 3T / et

(A) Low heat Portland #e
(B) Rapid hardening i
(C) Ordinary Portland #HE
(D) Blast furnace slag HiHT

ST rigid joints AT HTHT T T S A
HTATE

(A) mmaﬁéﬁ%mmﬁwqﬂﬂ‘ﬁf%

(B) Sz 1 FE T T Y

(C) e 7 S R T &

frem 8
%ﬁ?m%mﬁﬁmwﬁﬁﬁﬁ@

ﬁzaomno%aﬁﬂwmﬁﬁt
(A) T e 4w 8 mm &

(B) e g A= B oM E
mﬁ%@mﬁqaﬁ‘mmﬁ\%
(D) mﬁimaﬂaﬁmcmﬁ

T
[Paga-l?]
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116 Why is lime add
the topcoat of pla

(A) To improve th

plnstrr o for ease of

i he
{R) To stiffen th e plast

To smoothen
spl‘f."ﬂd
(D To make the pl

i [
aster nnn-shrmkﬂhl

" for 8
117. Preliminary project report
project must contain :

(A) The detailed eslimate
tives

etailed dtsiign erna
The several allc .
ol praject that have been ':Dnmdﬂicv
(C) The soil survey, fraffic: 3 .:o;t'
concept design and appmx:ma?tel '
(D) The contract documents for mviting
tenders

d cost pased OF

118. Minimum inclination provided in tilted
photography is
(A) 33°
(B) 20°
(C) 13°
(D) 3°
119. The fineness modulus of fine aggregate is
2.78 and of coarse aggregate is 7.82 and
the desired fineness modulus of mixed
aggregate is 6.14. What is the amount of
fine aggregate to be mixed with one part
of coarse aggregate?

(A) 53%

(B) 50% 2% \

(C) 45% ; :
(D) 40% ~g0 ‘61#3

0
. “./]x-
120. For a given activity, the optimistic time,

]::esshnist_ic time and the most probable
time estimates are 5, 17 and 8 days

respectively. The expected time is :
(A) 8 days

(B) 9 days

(C) 10 days

(D) 15 days

121. Coal based thermal i
pollute the atmosphere byp::}d\:;?; : e
(A) NO, and SO, &
(B) NO,, SO; and SPM
(C) NO,, 50,, SPM and CO
(D) NO,, SPM and CO

[Rerirc-l

116-

117.

118.

119.

120.

121.

(A) Py Fegren <
Wﬁﬁﬁﬂ‘m“%% 123.

TEET
frmee Sy 5
(A)33° T T
(B) 20°
(C)i13°
{D)3°

124

Fine aggregate #T fineness modulus 2.78 & #ix
coarse aggregate 7 7,82 ¥ ¥ mixed aggregale
FT AT fineness modulus 6.14 #1 Coarse
aggregate ¥ UF w7 § avx [ B o A 1
fine aggregate T ATT &7

(A) 55%

(B) 50%

(C) 45%

(D} 40%

frfr &1 wF TRER ¥ fu, swEd W,
;5,17 9 8 i &) s o

(A) 8 f&
CIEAR
(c) 10 =

D) 15 f& e T
;ﬁwmwwﬁ ¥

e FC AN Ao &

(A) NOx T 502 -
0,, SPM e CO : 1'

©) NOx, SU2 : 1

() NOy, SPM T €0 w-.m-;h.::

i
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5
tly ¥ 134, S
r”*any ﬁ Eﬁ‘ﬂ“llﬁl 2x+ 3}'= 5: Ax+ ky=1l]
" +€ ﬁmﬁﬂ'wﬁrﬁﬁgﬁk:
J af‘a (A) 6
(B) 4

| . _ Hk:) 2o ©) 3 '
| R work is being d;“ebya\— (D) 2 !

_“T ) | o women in & days angd 4¢ A
e in2days. The number opg, o 48 Womey > T ¥ 1 8 ST, 16 Afinitare 6 Fet i vy
men will take to fin; ’ |
I ?.:] 32/3 nish the wor:cn?slfj i’ B o T, 40 el 21 ﬁ; :
: (B) 2973 —L+L s mmﬁmmz@@mwlu :
. N 5 R (A) 32/3 \
ﬁ{@ 7 ;_Lh‘j_, 16 (B) 2973 ,
- A AR ) 353
- f%;'(]f the number “741259AR A ) 2
Ty T by 40, then~for the least ‘Valu: nff‘:fible 136 =f =T "741250A8", 40 ¥ Rvmer & &1 A ¥
E:;UEBUHAHB Is: the AT T ¥ O, 5A + 3B F1 R &
10 {A) 8
(C) 15 (B) 10
(D) 25 (C) 15
(D) 25
T 137. The HCF and LCM of two numbers are ~ 137. 7 sfwer=it % wereiiuss (HCF) s T (LCM)
= 12 and 72, respectively. If the ratio of Fer: 12 3 72 ¥ 3t 3y dwearet &7 e 2: 3
the two numbers is 2 : 3, then the larger 3 aﬂraﬁ—,ﬁﬁﬁaﬁ-m%‘;

of the two numbers is: ‘),“: QU (A) 36

M /
(B) 24 gﬁ”‘? | :r@'{wﬁ , @24
(C) 48 Hopy = __j% -~ (C)48
(D) 12 /% ! '}5‘.]’:_{__.‘: (D12

138, e s i ey e ey s PR T &

s, The name of cyclone «Tauk tae” has been

t ~

¢ given by the country: (A) aTEeE

[ (A) Thailand (B) sTI™

g (B) Japan () T

i (C) Myanmar o g

E (D) Indonesia (D) SETH

" g1 pours. 139 @mwhﬁsiﬁﬁﬁﬁwﬁlmﬁ
© A tp can fill @ tank BT g 3 B 5wy & i e e
o . 1 hours 1© 4

l: Because of leak, it took 83 nk AT FF T

W L] ) the ta o

. the tank. The leak will empty (A) 15/2 2T

3 ' {B) 23/4werH

_“;- 4 (A) 15/2 hours (©) 3712 %A ¥

* (B) 23/4 hours ©) 3372 ¥ )
gh. (C) 37/2 hours Fa 3] !

(D) 332 hours / [1102]
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~5

B— [

: z 128
- il o gis‘lﬂﬁ; ;
}l 5 = A is the son of C; C ﬂﬂg'&.mc 5 ”f:;:s
' | is the mother of Q 8n€ " © stale nts
' Which of the followiné
uq true?
(A) Cand P are sisters
(B) P is grandson of A
5 P::f??::iz;:nml uncle of A . 129.
. 3:ait 15 SIX
@ In a two-digit number, the unt gf;tm the
times the tens digit. [f 45 15 35°% % peir
number, the digits interch
place, then the number is: _ i b |
AYS3 dond Yy 7 al’
)35 b X
61
(D) 16 M
! 130.
130. In a group of students, each one Knows
either Hindi or English. If 100 know
Hindi, 50 know English and 30 know
both, how many students are there 11
group?
(A) 100
120 @
(C) 150
(D) 180
I31. The area of a triangle (in cm’ ) whose 131
two sides are 8cm and 6cm and the
perimeter is 24cm, is equal to:
(A) 36
(B) 32 J+6 + m=d4
ey 24 N S
)40 __— M= yg%/i
-l,_(h](’s)“\ U S{yatri-b)ive (o
132. A solid cube of side 12 cm is cut into ¥ 132,

Y ¥fyL e.ight cubes of equal velume, then the
side (in cm) of the new cube is equal to:

(A) 7 v,
- '}l;/ A Q
133.

(B) 4
o'

6
The median of the following obs i
46, 64, 87, 41, 58, 77, 35, 5 sgw;;m;;
is 58. If 92 is replaced by 9_9’ EEI :H’ by
43 in the above data, Lhe new median is*y

11..-
‘8

133,

(A) 56 )
B 150 018 64y,
@4 B8 0, U

B 149

igties B] T

Wﬁ%wﬁﬁ

100 81 a1 R T SR ST ) oy

T 2, 50 s T # oA 30

(D) 180

T PR A S Gnfe %) v g, B &
T B ST A 6 A & s oAy 24 i ¥
{A) 36

(B} 32

(C) 24

(D) 40

12 1 & T I IF FTATAT AGAA F A5 5§
FTET STAT 8, € T 7 A7 (FHY ) FAT F

(A) 7

(B) 4

(C) 5

(D) 6

Frarfeifem 214
g2, 33 a1 wriege (Med
e 2z i 99 FACH
= g R A€

137.

6, 64, 87, 41, 58,77, 35, 90, 55, 1
an) 58 & 1% 82 l
T 43 ¥ 7ew RATATT,

! (A)56 ' i

(B) 61
(C) 58
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'I -'-_'_,_. ﬂSha-Pc fest Ufaggre

o I'Irl - - Ea
i 1.3" e EJ",;.vE:u:lg gives the t:= Whieh
B iness index for g “Ofteqy” One o
¥l 54 sieve and relained ﬁne.;aal Daszl-nt for
oo s
) 2 ™ o
1 mm

e original cost of 3 .
B E,[]UO. Its salvage va;]u:il:lglmam is

jotal useful life of 5 yeays ; € end oy
ts book value at the eng nt‘ls 1,000
its USEﬁll life (aS per Straight § n] Years ﬂi_'
of evaluation of deprecig tian) me. Method
(A) Rs. 8,800 Will be .

(B) Rs. 7,600

(C) Rs. 6,400

(D) Rs. 5,000

124, Quantit):' of Gypsum in ordinary Portjand
cement 15
(A)0.1- 0.5%
(B) 05— 1%
1-3%
(D)3-5%

125, Which one of the following test is
employed 1O determine strength  of

hardened existing concrete structure?
(A) Bullet test
(B) Kelly ball test
ebound hammer test
(D) Cone penetromeicr

i foot
126. The basic action involved 10 sheep

rolling is:
{AyEncading
(B) Pressing
(C) Tamping
fD} Vibration
“ er
4 @ Who is the women hDCkﬁBP;?;’mpics?
| india to score a hattric at
(A) Rani Rampal
(B) Salima Tete
Vandana Katar1y?

from

122.  pAggregate % shape test ¥, P # & 4= @

flakiness index ¥ &=, 50 mm wert & weren
arelT #T 40 mm TR T s A
aggregate ¥ T flakiness index =1 £ 2

(A) 25 freft

(B) 27 Frft

(C) 81 Frft.

(D) 30 firdt

123, ws Sa 1 I S F10,000 ¥ 5 6T % sww

o ITAMT S F 0§ e P e s
1,000 ¥l THF ITGARI Sraw F 21 a9t & sq f

Tl T T (B ¥ e £ el
g fr ¥ wETY) B
(A) % B,800
(B) % 7,600
(C) ® 6,400
(D)= 5,000
124, mmﬁﬁxﬁﬁtﬁﬁmﬂﬁwﬁﬁ%ﬁ
ERIRE
(A) 0.1-05%
(B) 0.5-1%
(C) 1-3%
(D) 3-5%
125, f@wgwﬁmﬁmm%m
ﬁrﬁﬁﬁ&ﬂ‘r{mﬂ'ﬁlmﬁmw%?

(A) FEEE

(D) e TAGHTES
126. sheep footﬁﬁ"fﬁgﬁﬂﬁﬁmﬁgi
(A) |
(B) ZeTAT
(C)
(D) F
127, @etas § & AT AT
Y i 87
(A) T TRTT
(B) TR 2
(C) FEAT FA

{D):rawﬁ?raﬂ'(
" (1102] (Page-23)

Scanned by CamScanner

e 1 AR w9



| X K _'_1"
{ 140 T"*'n'm-rﬁ.
gfort fﬂ g %1? T e ﬁf"l‘ ﬁ'ﬁq— y
140. A rabbit makes seven [60P8 o lcapﬂ ! AT 8 T Ry o T i 1
leaps of a deer, U the dee! hrh on the rati° M Ty ¥ R AR g g
equal to rabbit’s five leaps: . I oy T, 5y T I gy
afspeeds of rabhit and deer I3 (A) I T Ry
(A) 25: 21 _ 25:24
i 02
( HE Cy 7.
(D) 21:25 © 7.3
(D) 21 ' 25
14l ar
b ’ :JT:F ¥
141, The bar graph shows the sumt lﬂ‘(’fﬁ”‘fm i‘: Stfirat HeToy
4 different persons A, B, C an raph " A B C
bank on simple inferest. Sl”d.'l’ Ihﬂ;lr;- &l gy
and answer the quesnon given beloy #
- | By
g 00 ¥ 1000
£ £
Q}? 15000 T oo g
) B
QL £ oo g oo [
1 O 7 QT
x S g sow 3 so0
Vs <
22 a
@ L’% fount received by C after three Lo ?TW + an? (_: §F"T ‘EITET .ﬂ.ﬁ[ ﬁ F
&t s if the rate of interest is 8.5% p.a. is: ’l"{
& ) Rs 26610 (¥ TR T 8.5% s &
/(BY Rs 27610 ot O (A) Rs 26610
(C) Rs 25610 e - >’ O (B) Rs 27610
(D) Rs 23610 "',{(;, (C) Rs 25610
- (D) Rs 23610
142.  The Virus responsible for the Covid.
Pendmic is: P ¢,Covid-19. 142, COVID-19 Wq_rﬁrrﬁa %ﬁmmrﬁm
_{AYSARS-CoV.2 g
(B) SARS-CoV.1 (A) SARS-CoV-2

(C) SARS-CoV-4

(D) SARS-CoV-3 (B) SARS-CoV-1

(C) SARS-CoV-4
(D) SARS-CoV-3

143. Which district of Utt .
international hordmoafﬂkhand has longest 143, gu@s &7 #4 4 Forerr T sttt W

AT Champawat ' ST 7T FCAT &7
/(BT lth(}ragarh _

(C) US Nagar . (A) FFITET

(D) Almora

e 14
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pe
[ &

.:!:'the..‘ijriéé'-of fuek sy,

" original  pri ITeag
: reased by a fact Nee U
e o dg the
se on fuel remajp, Ner 8o t}]: be
e tth
|
j- " dice is thrown ran
i A bability that the nudnfiﬁﬂf < hay is
| ice is ot divisible by 39 Shovy On :ﬁe
r - (A) 1/3 )
F omn
) ]2!5 "
. Marble is the metamg
!: r ?:.} Shale "Phosed form of 9
| asalt
I' E (C) Sandstone
(D) Limestone

, Gateway of India was built by?
~ (A) George Wittet

- (B) Frank Gehry

~ (C) Zaha Hadid

" (D) Non of these

|48, Inatmosphere the lowermost layer is?
~ (A) Troposphere

- (B) Exophere

- (C) Ionosphere

4 ,MStratosphere

09, Who is the first women cricketer ©© hit a
" double century in ODI ?
- AT Mitali Raj

(B) Smriti Mandhana
(C) Belinda Clark

. (D)Ellyse Perry

. ysed
. . +ds is Us
' Which one of the following acl

* inthe car-batteries 7

~ (A) Acetic Acid
N (B) Hydrochloric Acid
* (C) Sulphuric Acid
(D) Nitric Acid

145.

146.

147.

148.

149.

150.

(A) 20%
(B) 25%
(C) 30%
D) 50%

AT=IAT TH TTET Sy
ﬁwawﬁﬁﬁwa?ﬁi?ﬁwa&
(A) 1/3

(B) 273

(C) 1/4

(D) 2/5

TTHTHL FT 595 77 &7

(A) @

(B) #a&TeE

(S

(D) AT TeuT

(A) 5T i

(B) 3 et

(C) wirer &=

(D) =T & FTE AL

rpeee 7 EaE e a 2ei 32
(A) ZTIITFRTT

(B) wHTTHAT

(C) ArTATEFAL

(D) =2IRFFA

ODI ¥ FgT o TrT AT e At e
T E?

(A) Frarett o=

(B) ¥ d HaT

(GEEEERED

Ll

m st & & o o W OIE AC
deFt & fvar swa €7

(A) TR =T

(B) TS IF O A

(C) TFIICH ¥

(D) FATIEH AT

- — -
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yoes nr
i which P
s 151, Uttarakhand lies 17
Himalayas?
(A) Middle enst
(B) Middle wnﬂh
C) Middle norl
{[ D) Southern Middle
s have
152. In a company, 70% CI“P‘I;‘::: 4 15%
bikes, 20% employces have € o cars. In
nfcm'plnycr:s have both hikes & 1 the
all there are 3840 cmplﬂb’ff:q do 1ot
company, How many employee:
have bike or car?
(A) 400
__4BT960
(C) 480
(D) 560 lac
al i Wy
[
% a8°
153. How many triangles arc there 10 the
given figure?
(A) 25
(B) 14
(C) 39
(D) 40 or more
154.  Last year Manish bought new year cards,

he found that the four types of cards he
liked cost Rs 20, Rs 35, Rs 45 and Rs 50
each. As Manish wanted 30 cards, he
took five each of two kinds and ten each
nflolher }llwo, by paying some Rs (g
Noles on the payment cous ,
notes did Maﬁisyh give? et How many
(A) 10
(B) 11
(€) 9
(D) 8

151.

152.

153.

154.

Elito .
Wﬁg_l?;mglw“‘&ﬁaun
(A) 40p '
(B) 980
(C) 480

(D) 580

W%mm

PR o s P 2

(A) 25
(B) 14
(C) 39
(D) 40 7 F4TET

g o o TR § T T F W @i 91 I
oy o T S AR TR A w3 W
£ F7T Fo 20, ®o 35, Fo 45 AT Fo
o 7RI 30 & TEEAT FTEAT I, 9: T T
100 %ﬁﬂifmwmuﬁm‘rmtﬁ |
wwmaw%mmm.m#

fapery ATe faa?
(A) 10
(B) 11
(C) 9
(D) 8

Scanned by CamScanner

157.

158.

15¢

wy



in
Urp 2 8
ﬂnd Rs 65{]‘ n & af R hbr..lse .
T sy es calculates | Cary, S 60g ; in 1
the oo Fih, . 66.  rger o w=ar Aoy
= erest then wha g the © m e Saviy, % 600 v st § maﬂ;?nh y Rrert 4 wmr
s U € of e Tl T Ao e mﬁﬁmﬁti
Mereg REE L E R TR
(A) 3%
(B) 5%
(C) 7%
= fohan and Harish g (D) 9%
ke ther by investing 24% busine ety
~ 7000, respectively, 0 apg o 167. T FAT 24000 3 22000 wuR
=T & ! iusmﬁf*s after 4 monthsﬂai.rdSh Ieﬁd trif,- Pae &6 ©F =amy o B Thar ¥ 4 qg-.rc
T S the business with Rg 26{]05““" Hoine arE FE 81F B e s 26000 Y
T U ' fit by the end of the .. etom[ i Ei:qmﬁv%mlﬁ%ﬂﬁﬁ
_,' 18033. What was the shay, Car wuq Rs TSt 38033 T AT\ w1 #F giter 7 et sy 42
the profit” °t Harigy (A) 13546 =%
(A)E 51%5?6 (B) 5731 =T
¥ %Rs 6640 (C) 6640 &7
‘ (D)Rs 5604 (D) 5604 &7
3 In a certain code ROME s . .
ﬂ LNV, how will TOKYO bﬂ\::::tt;;ﬂs 168.  x Mfas &e f ROME =7 ILNV % =9 i T
~ that code? = T &, 39 Fi% H TOKYO 5t F& forar s
- (A)GLBPL (A) GLBPL
[gg ELPBELM (B) FLPBL
MGLPBL (C) FMKBM
(D) GLPBL
fﬂ If A denotes ‘=, B denates ‘=', C 169, =fi A+ &y zofar & 87 F1 At & C X' A
"""*.F denotes ‘x’ and D denotes '+’ then the mfar @ oA D W wm ¥
~ valueof . 15D 16B28 A7 CATTAM &
ISDIE-B284‘1'éﬁ'f#qlfi}{b1 (A) 31
¢ 416 -8~
3 (A);1+ Hw,.@w (B) 15
/fB‘)'ls (Cy108
(C) 108 (D) ZaH & 7S A ot ;
(D) None of these olectric 170, 78T F 7ol TAAEE T Eﬁ:ri : 'WT&:%
n, filly charged €2 mguaﬁazﬁww&r%w
The battery of 2 B, rigutes WiF et e 30 Pz ¥ 1% 3T & 9§
~ scooter can last upto day. dur'mg*"“d|3 : - 1} T A, T 3D firz A9 B
~ continuous riding. On 2 3 ) Kms. A s =78 et &y e A i TR
. the scooter stops aftcT srmﬂ““’s 26 Freirefa A T &5
3’-"" charging it partlaﬂ}’,\:;h ¢ is the avereE® T &2
¢ nd covers 25 Kms. (A) 40 Fret /ot
H“ speed of the scooter’ P+ () = %‘O‘L ELiRACA e
= (A)4 Knv’hr Seer Wik BIY x 45
188 ¥ (c) 49 Faeft /T T
W © 49 Kmfhr 22a¥M pysa R/ W;g;ﬁ_ 3
1A%y (D) 54 Kmv/hr i
g ,} [1102] 2e0tloaL -39 e

T b9 4 Lary =

—_.____-rl'
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161, In how many Ways l-ﬂ“r wr different
different  letters  into O letters g0
envelopes so that alh:ns} u
into the wrong envelopes
(A) 13
(B) 15
(Cy 19
(D) 17 o Rt
- - l :.
(Direction for Q. No. 162 e e

the following information an
items that follow.
g Gﬁl‘:\fcl;cg'zcnds P,Q. RS TU and V a.t;
S P sitting around a circle facing t‘hc ccntr;.w
R is between V and S. R, who 15 secon 2
the right of S, is between Q and U. Q
not a neighbour of T.

v

Which of the following statement isfare
true?

d (I) U and V are neighbour of T.
(II) There are two people between T and

u.
(IIT) Q is third to the left of T.

(A) Only I

Only IT
(C) 11 and I1I both
(D) I and IIT both

163. Who among the following is a neighbour

of S and R?

B
U
(C)P
(D) Q

164. l;l"hea- book ‘Garhwal IPainting’ is written
y_
(A) Chetan Bhagat
(B) Sailaish Matiyani
(C) Mukandi Lal
(D) Nene of these

165. The Ganga River does

A
Jharkhand

(B} Uttar Pl‘adesh
(C) West Benga)
(D) Bihar

not flow in whjch

161.

162.

163.

164,

165.

VUV, T ey 5 '
ORREUTES L5 o
(ImaQ, T Hﬁﬁﬁ]‘ﬂ?‘[%ﬂ
(A) Faer |

(B) e 1)

(C) Il =T 1 55

(D) l 7= Il &=

Frfiieg ¥ S 7arR 7 w2l 7 i
(A)T
E) U
(C)P
(D)Q

TEATH ST qErF g e 2

e 3 e 3 T A T
(A}HITE"’E

(B}aﬂ'{ﬁﬂr

(C)qﬁ'ﬂ'aﬂﬁ

(o) R | | it t
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: '.- . numbers ¥y g

rtional to eag}il are

| ed b o Othe, My
i ecreased Y 20% then %% 1" sl

by iy X g 155 3w X A Y oy
b w 3;3' ;’ ':rcre?: X% 20% ¥ % f2r o, ‘mﬂ‘““' E‘ﬁ‘fg
.. !_._l.j C} 100% 1 q’gm
BT can't be determ; —= = (A) 30%
| Mmined o e (B) 25%
¥ § 20y ~ Consider the following (C) 100%
ﬁ#;q-m ',." . 31 6‘4 atl.'lx; lD] mﬁmml
?&fq-rﬁ E m 7 | 80 156. fFwfafas 7o = e it
T T &y ) 21 | 63 24| 31| 64
‘ What will come at the pl,,, 457 |80
i (A) 20 af <y 33| 2163
I' {B)21 ﬂ’ﬂf%%?ﬁ?mﬂwéﬁ"?
i (€)22 (A) 20
‘ (D) 23 % 21
. 22
! i How many whole Dumbers 1, (D) 23
and 999 contain the digit *5» eWeen 0 157. @ qar 999 ¥ fi9 Bt o Hers ¥ §w 5
ﬁj),gﬁﬁ LRI
80 s e S T (A) 260
(C)271 S 1 (B) 280
(D) 252 (C) 271
(D) 252
|38, Iﬂ_a {ace of 20 bulls, the probabilities of 158. 20 &+ #7 == & &7 A, B 747 C & €z v £
winning the race by bull A, B and C arc .
1/4, 1/6 and 1/7, respectively, then what oTTEET e 144, 106 AT AT §, o u A OE
is the probability that one of the three Fo7 BT AT Srae T AT TR
bull will win the race? (A) 47/85
(A) 47/85 (B) 47/84
(B) 47/84 (C) 45/84
(C) 45/84 (D) 45/85
(D) 45/85 [ A
: 45 1i Ik 159. 45 efvee & fy foor & g K T F ST
19, Ina mixture of 45 litres, the ratio of !
i and water is 4:1. How much wa_tﬁgg‘]:“ 4:1 &) Frsor ¥ R o AT Ry iR At
A be added to make the mixture ratio == AT 3:2 8 SA?
o 50 (A) 20 litres ‘" (A) 20 =<
F =0 (B) 24 lftres U v Y+ (B) 24 ¥z
. (C) 15 litres
Al : (C) 15 ez
5 7 litres 4 0 e
¥ ‘{{?%Hn 2 M (D)1?Eﬁﬂ
— 160. et mgﬁ‘lﬁﬁmmﬁmz:;%.m
10, Salaries of Rajesh and SUT p one i it 6 AT o 4000 @1 & ST & F
fatio of 2:3. If the SalALY & "oy ratd 40:57 1 T &1 T A T TS
lglecreased by stﬁgtﬂ is gunil's presen . (A) Fe 17000
comes 40:57. S,.- -8 Pﬁj F1%B) ®o 20000
ary? Tt (C) &o 25500
(&) Rs17000 N
s -Eg) Rs 20000 e = (D) =7 o
Hae (L m
- -iﬁ%{t:ml lis 25592_-- //’T.fj-l 1+021_].
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171.
o seconds 0o
171, Rahul defeats Rohit oy 1 ad .;.nuh"' is 9 ™ g .ﬁ% Tt oy 10 16
100 meter race. If the spee fg_gllit? 7 Tnfgg / & iﬁ?‘ T Fry I
Kmv/hr, what was the speed @ T =y, ﬁﬁfﬁﬁ!ﬁ ‘
(A) 7 Km/hr )] {A) 7 &Tﬁ‘; R
@) sk gy I ® g
7.2 Km/hr E ( 5 R g
m‘hr C
S: j2i (D) 7.4 Ki p ol | de. ™) T2 Pt/
i ¥ 60X ) 7.4
,/q q .'. n ﬁﬁﬁ'f >
f-"‘:'" salf ?-‘"'FE ey
A vessel containing 3 litres of 2 h G 360 ?ﬁ-'TH' 3 e .
solution contains 10% salt. How mu¢ +1 TH T ey i THE % 0T H 109, RLE
water should be added more 1o the salt .ﬂr-—"‘ ey 3 %t‘“ﬁ T ﬁfﬂ'qu“ﬂﬂ'r !
solution so that it contains 5% of salt? _350 v qS%WE;T? ﬁﬁ%ﬂ
{A)J.sl_nres SIS, & 1 {,;: o (A) 1.5 dfry
3 (C) 3.0 litres @m 3o -
1;:,‘-'zf " (D) 3.5 litres ?) (C)3.0 e
7 B+ ’@,/ (D35 Frer

-
-

o g

173. At present, the age of Sameer and Rohan 173.

are in the ratio of 5:7 and after 10 vears

the ratio of their age will be 15:19. What

is the difference between their age at

present?

(A) 8 Years

(B) 12 Years

(C) 16 Years

(D) 18 Years

174, A faulty clock increases the time by 3.5 174,

175,

minutes after every 30 minutes. After
selting the correct time at 6:30 AM, what
tme will the clock show after 5 hours?

3“7‘ A qHWW’-"W-ﬁd{qs TE‘“"“I‘TFFFH*
10 BT 3T o0ft o 27 avge 15419 iy

T A T 2% 30 e a1e 35 fe
Wélweaownﬁmﬁmﬁamaﬁ

M3, 5 W T TETT TE 47 79y w2 i wuh

({;BJ ]llz;:u;s :}I\:[ .03 o (M) 12:05 TEET
_4€T12:05 PM Fiwe D (B) 11:35 watet
(D) 12:15 PM qep0 A ] 0¥ _(0) 1205 T
c §:do? (D)121Sanmrg
If coriander s relateg to seeda;en C L. 3 :
is related to - arrot Q- 5 Eﬁi{' & wfe &, &Y e Hw T 87 !
(A) Fruit g0 BB |
(B) Stem ) (A) 0
o v @ 3
oo o 5
' .:'.‘-Tl

(D}Wau**f
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